| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

........................................................................

o
N
|

R o

efficiency v

o
[
[

ot

02
QS

) 0 e ot e ot
Q08

1.

Ratio

=
!

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_TT onigmal_Towpt
— —e— DQM_TT_newbranch_lowpt
| Efficiency vs Dz | —— DQM_TT _original_lowpt_pLess

0.5 —+— DQM_TT_newbranch_lowpt_plLess

€ 0 a5
O
AT SR S I B S —

dz

ciency

ef

0.3
0.25
0.2

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


